Atomic Energy Central School No-4, Rawatbhata
Confidence Examination (2018-19)
Time — 3 Hours Class X, English- Communicative MM: 80

GENERAL INSTRUCTIONS
I. The question paper is divided into three sections :

SECTION A : Reading 20 MARKS
SECTION B : Writing and Grammar 30 MARKS
SECTION C : Literature 30 MARKS

I1. All questions are compulsory.
[11. You may attempt any section at a time.
IV. All questions of that particular section must be attempted in the correct order.

SECTION -A: READING (20 Marks)

1. Read the following passage and answers the questions that follow: (10 Marks)
SPEEDING UP INDIA’S JOURNEY BY BULLET TRAINS
By: Vijay Kumar Dutt, Indian Railways
High speed in Indian Railways is at present limited to 150 KMPH. However, in many other countries the
speed of Railways is of the order of 200 KM per hour (KMPH). In France, Japan, Germany, China, Spain
and South Korea high speed traction above 280 KMPH has been introduced. India and Japan have signed a
memorandum of understanding (MoU) on 12th December, 2015 on cooperation and assistance in the
Mumbai-Ahmedabad High Speed Rail (HSR) Project referred to by many as ‘Bullet Train Project’. Japan
has offered an assistance of over Rs. 79,000 crore for the project. The loan is for a period of 50 years with a
moratorium of 15 years, at an interest rate of 0.1 per cent.

The project is a 508-kilometre Railway line costing a total of Rs 97,636 crore, to be implemented in a period
of seven years. It has been agreed that for the Mumbai — Ahemdabad HSR Project. Japan’s Shinkansen
Technology, known for its speeds reliability and safety, will be adopted. Transfer of technology and “Make
in India” will be essential part of this assistance package. Japan will also assist India in training of personnel
for HSR.” The two countries have also entered into two comprehensive technological cooperation
agreements on 11th December 2015, for modernization and upgradation of Indian railways. These
agreements have been signed during the official visit to India of His Excellency Mr. Shinzo Abe, the Prime
Minister of Japan, during December 11-13, 2015.

a) Name the countries where high speed traction above 280 KMPH has been introduced.
b) Which project is known as “Bullet Train Project”?
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c) How much time and money is estimated for the Project?

d) Which technology will be adopted for the Project?

e) What agreements were signed during 11" December to 13" December 2015?
f) What is Shinkansen Technology famous for?

g) How has Japan assisted India financially for the Project?

h) Find a word from the paragraph No. 2 which means ‘Necessary’.

i)  Write full form of MOU.
J) Japan has offered assistance to India for the project. How much?

2. Read the following passage carefully: (10 Marks)

Heartbeats get abnormal after exercising, running, or after doing some strenuous work. There is nothing to
worry about. But if your heart beats at irregular pace often, it is important to take note of it rather than
ignore it as it can be a warning sign for a heart ailment called arrhythmia.

A normal heartbeats 60-100 times per minute while resting, but if it starts beating too slowly or too fast or if
the heartbeat is irregular of premature, then that condition is known as arrhythmia. People tend to avoid it as
a minor issue little knowing that it can lead to a stroke, fall due to drop of BP, loss of consciousness or even
result in heart failure.

In a country where people take time to press the panic button when it comes to illnesses and medical
problems, it is no surprise that a number of cases of irregular heartbeats go unnoticed for a long time. Some
dismiss it as just a recurring symptom of body weakness; others may ignore it as a side-effect of blood
pressure issues. The lack of awareness about arrhythmia means that not many people even take note of the
symptoms.

When heartbeat is not too fast, it is called tachycardia. When the beats are slow, it is known as bradycardia.
An irregular heartbeat may be due to artrial fibrillation.

The problem is that the symptoms are quite vague and can be associated with other minor medical problems
in India, not many people are aware that there is a heart’s electricity related disorder called arrhythmia.
Often it is diagnosed when doctors are checking a patient for something else. More often, by the time it is
diagnosed, major damage has already been caused.

It is important to take seriously any abnormality in the rhythm of our heart. There are many symptoms that
can help predict arrhythmia like shortness of breath, weakness, early fatigue, palpitations, thumping in the
chest, dizziness, chest pain, fainting and, of course, too fast or slow heartbeats. Ignoring these symptoms is
inviting a major health trouble.

While some type of arrhythmias can be harmless, other can be life threatening as it may disrupt the normal
functioning of the heart. In some cases, it can lead to heart failure too. The condition is treatable with the
help of implantation of a pacemaker, devices or through burning the points from where irregular beats
originate through radio-frequency heat waves. There are a few things in medicine where a permanent cure is
possible. For certain arrhythmia this stands true with radio frequency ablation.

On the basis of your reading of the passage, answer the following questions:




a)
b)
c)
d)
e)

9)
h)

)

What is normal heartbeat?

What do you call the situation when the heartbeat is too slow or fast?
What happens when there is drop in BP?

What results due to artiral fibrillation?

When is arrhythmia detected?

What danger is there when dizziness or chest pain is ignored?

When does heartbeat abnormally?

What is bradycardia?

Write the synonym of FIRM. (para-6)

Write the synonym of EXAMINE. (para-4)

SECTION B: WRITING AND GRAMMAR (30 Marks)
You are SaurabhSrivastava, a resident of Defence Colony Bagdogra, Siliguri. Your colony is facing
the severe problem of supply of inadequate and poor quality of tap water. You decide to express your
views and make the authorities aware of the situation by writing a letter to the Editor of The Siliguri
Times, Siliguri. Write your letter in about 150 words. 8M
Complete the following story: (200 words) 10M
Anuj had gone on a holiday for one month and when he returns, he turns the key in the lock and
opens the door. To his horror, he finds.............
Look at the words and phrases below. Rearrange them to form meaningful sentences. The first one
has been done as an example. 4M

Example — Friends/l/ my/ were/ grandmother/ and/ good
My grandmother and | were good friends.

A

B.
C.
D.
6.

left me/ my/ city/ parents/ her/ with/ they/ in /went/ live/ when/ to/ they

morning / to/ wake/ used/ up/ the/ in/ she/ me.

said / prayers /monotonously/ morning/ she/ her.

listened/l / loved/l/ voice/ because/ her.

Fill in any four of the following blanks choosing the most appropriate option from the ones given
below. Write the answers in your answer —sheet against the correct blank numbers. (4 marks)

A. Sanitation and hygiene are also important ( a) the well — being of society and biodiversity
conservation .
B. The government has (b ) a programme .
C. It aims to develop ( c) riverfronts .
D. It will solve the problem of pollution ( d) the rivers .
E. The need has been(e) for a long time.
(@) (i) by (i) from (iii) for (iv) into
(b) (i) initiates (i)  initiated (iii) initiate (iv)initiating
(c) ()an (i) a (iii) in (iv) the
(d) (i)in (iit) on (iii) onto (iv )by
(e) (i) feeling (ii) feel (iii) felt (iv) have felt
7. In the following passage one word has been omitted in each line .Write the missing word, of the given

paragraph, along with the word that comes before and the word that comes after it in the space
provided .

Before word after
Most the people most of the

areannoyed passwords.




They have remember.

on any given day are

bound forget them

This creates difficulties the people. (4 marks)
SECTION C LITERATURE (30 Marks)

8. Read the extract given below and answer the questions that follow. Write the answer in your answer
sheet in one or two lines only. (1X4=
marks)

A. "We do many things, sir,” Nicola answered seriously. He glanced at us hopefully.”
a) What does the speaker mean by "We do many things, sir,?
b) Whom is he addressing to?
c) Why was Nicola serious?

d) Find the synonym of ‘looked’.
OR
B. CAESAR: Cowards die many times before their deaths;
The valiant never taste of death but once.

Of all the wonders that | yet have heard.
It seems to me most strange that men should fear;
Seeing that death, a necessary end,
Will come when it will come.
a) Whom does Caesar console and why?
b) Which quality of the speaker is revealed here?
c) Explain: Cowards die many times before their deaths.
d) Give the synonym of ‘Gallant’.
9. Answer any four of the following Questions in 30-40 words each (2x4 = 8 Marks)

A. What were Cassius’ reasons to kill Caesar?

B. The frog claims to be the best trainer in the field of music? Do you agree? Justify your answer.
C. Why was PatolBabu very conscious to know about his role in the movie?
D. What were the hardships faced by Nicola and Jacopo?
E. What does the poet do which he calls as “paltry, vulgar and mean’? Why?
10. One feels other’s pain only when one goes through it oneself. Explain the postmaster’s change of
heart and why it took place? 8M
Or
‘Materialism makes way for shaky relationships’. Do you agree with the statement? Explain with
reference to the play ‘The Dear Departed’. 8M
11. Write the character sketch of ‘Helen Keller’. 10M
Or
Helen had a great love for animals and birds. Elucidate with the help of examples. 10M
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Atomic Energy Central School No. 4 Rawatbhata
Confidence Examination (2018 - 19)

Time: 3 Hours Class X, Mathematics Time: 80

Name of the student : Class : X - Roll No.

NOTE :- Each question of SECTION - A carry 1 mark ; Each question of SECTION - B carry 2 marks ;
Each question of SECTION - C carry 3 marks ; Each question of SECTION -D carry 4 marks ;
SECTION - A

If x=3++/2 isone root of the equation x2 - 6x + 7 = 0, then find the other root.
find the HCF of the smallest prime number and the smallest composite number.
Find next termof  AP. V12, V75, V192, ....

Find the distance between the points ( cosé , - sin 8 ) and ( - cos8, sin 6 )

A W e

. 5
5. If sinA :1—3 , Calculate the value of tan A.

. .. AB 3 . AABC
6. Given A ABC ~APQR, if — = =, then find ar :
PQ 5 arAPQR

SECTION - B

7. Prove that /2 is an irrational number.
8. Solve the pair of equations  37x + 63y = 263 ; 63x + 37y =237.
9. (8x+4),(6x—-2),and (2x+7)arein A.P., find x.
10. In what ratio does the point (- 4, 6) divide the line segment joining the points A(-6,10) & B (3,-8).
11. Find the value of k so that the equations kx + 4y = k - 4 ; 16x + ky = k, have no solutions.
12. If two vertices of A ABC are A (-4,2)and B (4, - 1) and co-ordinate of centroid is G( 3, 7). Find the
co-ordinate of vertex C.
SECTION-C
13. Find H.C.F& L.C.M o0f 404 and 96 and verify that H.C.F x L.C.M =product of the 2 given numbers .
14. Obtain all others zeros of polynomial ~ x*- 6x2 - 3x + 2, if two of its Zeros are %(3 +/5).

15.1fA(-2,1),B(a,0),C(4,b)and D (1, 2)are the vertices of a parallelogram ABCD, find the
value of a and b. Hence find the lengths of its sides.
OR
IfA(-5,7), B(-4,-5),C(-1,-6)and D (4,5) are the vertices of a quadrilateral ABCD, find
the area of the quadrilateral ABCD.
16. A jackal saw a rabbit in front of it at a distance of 10meters. It runs to catch the rabbit with a speed 2m/s

and uniform acceleration 1m/s®. To save its life the rabbit runs with maximum uniform speed 6m/s. At
what time the jackal will catch the rabbit & how much distance the jackal covered.
17. If the area of two similar triangles are equal, prove that they are congruent.

18. Prove that the lengths of tangents drawn from an exterior point to a circle are equal.




19.

20.

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

If A, B, and C are interior angles of a triangle ABC , then show that sec (%) = CO0Sec %

Three horses are tied at each corner of a triangular grass field with ropes of 7 meter each. If sides of the
field are 17m, 20m and 18m, find the area grazed by them.
A heap of wheat is in form of cone of base diameter 24 m and height 3.5 m. How much canvas is
required to just cover the heap?
Metallic solid spheres of radii 6 cm, 8 cm and 10 cm, respectively, are melted to form a single solid
sphere. Find the radius of the resulting sphere.

SECTION-D
A train covers a certain distance by a uniform speed. If train would have been 10 km/hr faster, , it would
have taken 2 hours less than the scheduled time. And, if the train were slower by 10 km/hr , it would
have taken 3 hours more than the scheduled time . Find the distance covered by the train of its journey.
If S,ofan AP isgivenby n(5n + 7). Find (a) an. (b) 26" term
State and prove "Basic Proportionality theorem™.
draw a triangle ABC with BC =6 cm, AB =5 cmand 2 ABC = 60°. Then construct a triangle whose

sides are % of the corresponding sides of the A ABC.

sin A — 2sin? A
Prove that =tan A.
2 cos?2 A —cos A

The diameters of the lower and upper ends of a bucket in the form of a frustum of a cone are 10 cm and
30 cm, find (i) The area of the metal used to make the bucket.
(if) why we should avoid the bucket made by ordinary plastic ? [ User = 3.14 ]

The angles of elevation of the top of a tower from two points distant 32 m and 72 m from the base and
in the same straight line with it are complementary. Find the height of the tower.

b that sinf—cos6 +1 _ 1
rove tha =
sin® + cos0—1 secO—tanb




Atomic Energy Central School No 4 Rawatbhata
Confidence Examination (2018-19)
Time: 3Hrs Class X ,Science M.M. 80

General Instructions:

(i)  The question paper comprises of five sections- A,B,C,D and E. You are to attempt all the sections.

(i)  All questions are compulsory.

(iii) Internal choice is given in sections B,C,D and E.

(iv) Questions 1 and 2 in Section-A are 1 mark questions. They are to be answered in one word or in one sentence.

(v) Questions 3 to 5 in Section- B are 2 marks questions. These are to be answered in about 30 words each.

(vi) Questions 6 to 15 in Section-C are three marks questions. These are to be answered in about 50 words
each.

(vii) Questions 16 to 21 in Section—D are 5 marks questions. These are to be answered in about 70 words
each.

(viii) Questions 22 to 27 in Section-E are based on practical skills. Each question is a two marks question.
These are to be answered in brief.

SECTION-A
Q.1. Name the body fluid & its component that transports carbon-di-oxide. 1
Q.2. What do you mean by water shed management? 1
SECTION-B
Q3.Will current flow more easily through a thick wire or thin wire of the same material, when connected to
the same source? Why? 2
Q.4. Why zinc oxide is called “amphoteric oxide”?Support your answer with suitable equations. 2
Q.5. Unicellular Organisms Amoeba &Leishmania both use same mode of asexual reproduction but with a
difference. ldentify the mode& also clarify the difference. 2
SECTION-C
Q6.Write three properties of a good fuel. 3

Q7.A magnetic compass shows a deflection when placed near a current-carrying wire. How will the
deflection of the compass get affected if the current in the wire is increased? Support your answer with a
reason. 3

Q8.A convex mirror used for rear-view on an automobile has a radius of curvature of 3m. If a bus is located
at 5m from this mirror. Find the position, nature and size of the image. 3

Q9.(a) What are the advantages of connecting electrical devices in parallel with the battery instead of
connecting them in series? 3

(b) 100J of heat are produced each second in a 4 ohm resistance. Find the potential difference across the
resister.

Q.10. A new iron nail was dropped in a test tube containing freshly prepared copper sulphate solution. State
the two observations which will be noticed after one hour. Also write the equation for the reaction involved.
3

Q11. Give reasons:- 3
(1) Curd should not be stored in metallic vessel. (i) During indigestion, antacids are recommended.
(iii) Rock salt is often brown in colour.

OR
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A Sodium salt is used in soda-acid fire extinguishers. How it is prepared? Write equations also. What makes
it suitable to be used for making antacids?

.Q12. Which characteristic of Mendeleev Periodic table shows that Mendeleev had vision for future
elements? State any two anomalies of Mendeleev periodic table.

3
Q13. “ Bile juice does not contain any enzyme but is very important for digestion”. Why? Also mentionthe
function of Lipase. 3
Q.14. State which part of human brain controls the following- 3

(i) One can write in italics  (ii) Sensation of feeling full after a meal.  (iii) Partial control of heartbeat.

Q.15. Write any three ways for managing the garbage we produce.
OR
What is a food chain? Write one example. Why do food chains only have three to four trophic levels?
SECTION-D
Q16. (a) Explain the phenomenon of dispersion of light through a glass prism using suitable ray diagram.
(b) Explain why the colour of the sky is blue?
(c) An astronaut in space finds shy to be dark. Why? 5
Q17. What is meant by power of a lens? Define its Sl unit. 5

You have two lenses A and B of focal lengths +10 cm and -10 cm, respectively. State the nature and power
of each lens. Which of the two lenses will form a virtual and magnified image of an object placed 8 cm from
the lens? Draw a ray diagram to justify your answer.

Q.18. (i) How will you obtain zinc metal from calamine (ZnCQOg3)? 5

(ii) Draw a labelled diagram for electrolytic refining of copper.

(iii) Write the composition of alloy solder.

Q19. A compound A(CoH402) reacts with Na metal to form a compound ‘B” and evolves a gas which burns wi
a pop sound. Compound ‘A’ on treatment with an alcohol *C” in presence of an acid forms a sweet smelling

compound ‘D’ (C4HgO5).0On addition of NaOHto ‘D’ gives back B and C. Identify A,B,C and D write the
reactions involved. 5
OR
Q) What is homologous series? Why a gradation in physical properties is seen in any homologous
series as molecular mass increases?
(i)  What are detergents? Also state their one advantage & one disadvantage over soaps.

Q.20. (i) Draw the diagram of female reproductive system & label.(a) Site of Ovulation(b) Site of
fertilization.

(if) What are STDs? How can we prevent them? 5

Q.21. Name the phenomenon that governs the following:-
(i) Green beetles in bushes are not eaten by the crows.
(i1) Number of blue beetles in green bushes increases, only because the red beetles living there were
trampled by a herd of elephants.
(iii)No medium height plants are obtained in F1 generation, upon crossing pure tall and dwarf pea plants.
(iv) Tails of mice were surgically removed for several generations; still mice had tails in the following
generations.
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(V)A migrant beetle reproduces with the local population as result genes of migrant beetle enter the new
population.
OR

a) What are fossils and how is age of fossils determined?
b) During artificial selection,which features of wild cabbage were selected to give rise to (i) Broccoli(ii)
Kohlrabi?

SECTION - E

Q22. Mention the condition under which charges can move in a conductor. Name the device which is used
to maintain this condition in an electric circuit for verifying Ohm’s law.

Q23. A student wants to project the image of a candle flame on a screen48cm in front of a mirror by keeping
the flame at a distance of 12cm from its pole

(a) Suggest the type of mirror he should use. (b) Find the linear magnification of the image
produced.

Q.24. A dilute solution of which one of HCI& CH3COOH will have higher value of PH? Why?

OR

Five Solution A,B,C,D,Eproduced Green,red,dark pink, violet & blue colour respectively. Identify their
chemical nature and also arrange the solutions in decreasing order of their strength.

Q.25. Why does soap not work effectively in hard water?

Q.26. A student was studying binary fission in amoeba with the help of permanent slides. Draw the stages
which he will observe in sequence.
OR
When observed under high power of the microscope,’ chain of buds’ is visible in the microscopic view.
In which organism can it be observed? Explain the process.
Q.27. what is micropyle? What is its function?
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Atomic Energy CentralSchool No.4 Rawatbhata
Confidence Test 1(2018-19)

Class-X, Social Scinence
M.M: 80 Time-3 Hours

General Instructions :-

1. The question paper has 26 questions in all. All questions are
compulsory.

2. Marks are indicated against each question.

3. Questions from serial number 1 to 7 are very short answer
guestion. Each question carriers one mark.

4. Questions from serial number 8 to 18 are 3 marks questions.
Answer of these questions should not exceed 80 words each.

5. Questions from serial number 19 to 25 are 5 marks questions.
Answer of these questions should not exceed 100 words each.

6. Question number 26 is related to map. This is a 5 marks question
from history and Geography. After completing, attach the map
inside your answer sheet.

Q.1 Whatwas the main aim of the french revolutionaries ? 1
Q.2 Whointroduced printing technology by hands in Japan ? 1
Q.3 Howdo minerals occurin sedimentary rocks ? 1
Q.4 Write any one prudential reasons for which power sharingis
desirable ? 1
Q.5 How canyou say thatdemocracies are based on political equality ? 1
Q.6 Whatis meant by double coincidence of wants ? 1

Q.7 Why did Government of India impose barrier on foreign trade and
foreign investment afterindependence ? 1

Q.8 How did paul Bernard argue in favour of economic development

of Vietnam? Explain. 3
Q.9 Describe any three problems faced by the peasants of Awadh in the
days of non-cooperations Movement. 3

Q. 10 Rounak owns a farms in Uttar Pradesh he wishes to cultivate either
Jute or Sugarcane. He shall cultivate which crop out of these required
for their growth ? Explain. 3
Q.11 How can solar energy solve the energy problem to some extent in
India ? Give your opinion. 3
Q.12 How is democracy accountable and responsive to the needs and
expectations of the citizens ? Analyze. 3
Q. 13 Write three features of unitary and federal system each present in
India. 3
Q. 14 Democracy is much better to enhance dignity and freedom of the
people". Justify the statement by giving three points. 3
Q. 15 Describe the contributions of regional parties to strengthen federalism
and democracy in India. 3

Q. 16 What are such factors other than income. Which play an important role
inour lives. 3




Q. 17 You are an employee of a organised sector. What kinds of facilities you
will avail in comparison to an employee of un-organised sector? 3

Q. 18 What are important main changes visible in India, after accepting the
policies of liberalization and globalization ? &

Q. 19 why was a new eduction policy introduced by the French in
vietham ? what were the limitations or drawbacks of this policy 2 5
Q. 20 what were the circumstances which led to the Khilafat and
the Non- Cooperation Movement? S

Q.21 "The place of change has been rapid in modern times and has
impacted the ways of communication as well." In light of the given
statement explain the role of a variety of means of communication that
are usedin Indiainthe currenttimes. )

Q.22 Where are most of the Sugar industries located ? What are major
challenges before this industry ? 5

Q.23 What is meant by a political party ? Suggest any three effective
measures to reform political parties. 5

Q. 24 How does Bank play animportantrole in Indian economy ? Clarify. 5

Q. 25 Describe the role of manufacturing industries in the development of
economy. 5|

Q. 26 Complete the following questions in the given outline political map of
India. 2

(i) Name the place, where the Indian National congress session was
held.

(i) Write the name of the place related to calling off the Non-
cooperation Movement.

(iii) Name the Iron and Mines.
(iv) Terminal station of North - East corridor.
(v) Locate and labelthe Vishakhapatnam software Technology park.
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